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Napomena:
Za sve zadatke dostupna su opisana rješenja. Do rešenja dolazite klikom na tutorijal link desno od teksta zadatka (vidi sliku ispod). Primijetite da u svakom tutorijalu postoji objašnjenje za grupu 5-7 zadataka, među kojima se nalazi i željeni zadatak.
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C. Kefa and Park

time limit per test: 2 seconds
memory limit per test: 256 megabytes
input: standard input
output: standard output

Kefa decided to celebrate his first big salary by going to the restaurant.

He lives by an unusual park. The park is a rooted tree consisting of 71 vertices with the root at vertex 1. Vertex 1 also contains Kefa's house.

Unfortunaely for our hero, the park also contains cats. Kefa has already found out what are the vertices with cats in them.

The leaf vertices of the park contain restaurants. Kefa wants to choose a restaurant where he will go, but unfortunately he is very afraid of
cats, so there is no way he will go to the restaurant if the path from the restaurant to his house contains more than 7 consecutive vertices
with cats.

Your task is to help Kefa count the number of restaurants where he can go.

Input
The first line contains two integers, 71and m (2 <1 < 10%, 1 <m < ) — the number of vertices of the tree and the m:
consecutive vertices with cats that is still ok for Kefa.

The second line contains 7 integers ay. as. ..., a,, where each g; either equals to 0 (then vertex i has no cat), or equals to 1
has a cat).

Next 71 - 1 lines contains the edges of the tree in the format "x; y;" (without the quotes) (1 <x;, y; <n, x; #y;), where x; and y; are the'
vertices of the tree, connected by an edge.

Itis guaranteed that the given set of edges specifies a tree.

Output
A single integer — the number of distinct leaves of a tree the path to which from Kefa's home contains at most n consecutive vertices with
cats.
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— Virtual participation

Virtual contest is a way to take part in past
contest, as close as possible to participation
on time. It is supported only ACM-ICPC
mode for virtual contests. If you've seen
these problems, a virtual contest is not for
you - solve these problems in the archive. If
You just want to solve some problem from a
contest, a virtual contest s not for you -
solve this problem in the archive. Never use
someone else's code, read the tutorials or
communicate with other person during a
virtual contest.

Start virtual contest

— Problem tags

dfs and similar| | graphs | trees|[*1500
No tag edit access

— Contest materials

« Announcement #1 (en)
« Announcement #2 (ru)
« Tutorial #1 (en)
« Tutorial #2 (ru)




